()

(b}

( 6)

Class Y has been derived from class X. The
class Y does not contain any data members
of its own. Does the class Y require

constructor? State your answer with Yes or
No and why.

What is operator overloading? List out the
operators that cannot be overloaded.

What are genecric classes? Why are they
useful? Explain with an example how these
are implemented in C++.

9. Differentiate between the following and give
examples to bring out the difference :

(a)
(b)

fc)
(d)

AK16—3060/621

Private and public inheritances

Instantiation
template class

and specialization of g

Static and dynamic bindings

A class and a struct

* & &
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B.Tech 4th Semester Exam., 2016

OBJECT-ORIENTED PROGRAMMING

Time : 3 hours

Full Marks : 70

Instructions :

(i) All questions carry equal marks.

(i) There are NINE questions in this paper.

(iii) Attempt FIVE questions in all.

(iv) Question No. 1 is compulsory.

1. Choose the correct answer (any seven) :
fa) What is the output of the following code?

char symbol[3]={a’,b’,’c’};
for (int index=0; index<3; index++)
cout<<symbol [index];

fii abc

i} “abc”

Ml abe akubihar.com

fiv) ‘abc’
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(v} 1If a class C is derived from class B, which

is derived {rom class A, all through public
inheritance, then a class C member function
can access

o protected and puklic data only in Cand B
{a) protected and public data only in C
{th) private data in A and B

{iv}) protected cata in A and B

{c) In C++, the range of signed integer type
variable is
Ji# Oto 218
(i) 2% 1021% -1

(i) 27 1027 -1

(tv) O to 28

(d} The function whose prototype is void
getData(ltem * thing) receives

A a pointer to a structure
{i) a reference to a structure

(iii) a copy of a structure akubihar.com
(iv) four bytes

AK16/621 { Continued )
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(3 )

Format flags may be combined using the
(i) bitwise OR opcrator ()

{iij logical OR cperator (||)

filij bitwise AND operator (&)

fiv) lcgical AND opcerator (&)

Which of the {ollowing types of class allows
only cnec otject of it to be created?

¢t} Virtual class

i) Abstract class

(i} Singleten class

div) Friend class

:gl:‘l_t is afan p

(1] operator

J#) function

(iii} object

fiv} macro

The size of object is equal to

{fi) total size of member data variables
{ii} toial size of member function

{i# Both (i) and ()

{iv) None of the above

{ Tum Over )
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2. [a)

o
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(4)

If A and B are Boolean variables, then the
expression (1A} || {!B) is equivalent to which of
the following conditions?

i ((A&&B))
e (Al B)
(@) (1A)&&(18)

fiv) True

What will be stored in n by the following

statements? .
int n;
n=17+ 10/7;

& 18

(@ 3

(o)) 3.857..

fiv) 18.428..

W’_nte a program that defines a shape class
with a constructor that gives value to width
ax?d height. Then define two sub-classes
triangle and rectangle, that calculate the
arca of t'hc shape area(}. In the main define
two vanables a trangle and a rc’ctangle

a ~ 3
nd Lht_an call the area{) function in thiy
two vanables,

What are pure virtual functions? Write the
syntax.

akubihar.com (continuea
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(5)
3. (a) What is nhnc function? What are s
g advantages and disadvantages?

-b) Draw the exception handling model.

4, /{a) What is multilevel inheritance? How is it
diffcrent from multiple inheritance?

fp) How can a common [riend function to

“  wo different classcs be declared?

5. (o) What are the basic differcnces between
manipulaters and {05 member functons in
implementation? Give examples.

b} What is object-oriented programming? How
is it different from procedure-onented
programming?

6. (a) Explain  the following functions with
examples for manipulating file pointers :

seekgl), scckp), tellg), tellp()
fbj What is the difference between passing a
paramecter by reference and constant
reference? Explain with an example.
7.-{2) Write a program that asks the user for an
integer number and find the sum of all
npatural numbers up to that number.
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